. 2

]

fled and are to be used for reference only. Those using this &

ble to cosare that this document matches the current revision maimesined in digital formet, within but » singls source end prosocted by edil restrictions.

must take el

for

ies of this d

A I l C l D ! E [ F I G I H
4°x6 1/2° HANDHOLE
(SEE DETALL) (3) 1"=UNC x 5 1/4° (ASTM-A325) GALV HEX HD BOLT W/
(1) HW HEX NUT, (2) 1/2" THK x 2% 2 3/4" : A oL
POLE BASE PL RECTANGULAR WASHERS, AND (1) HARDENED WASHER (PLACED ON TOP ] (3) (#ABOLT + 1/4) ¢
OF SLIP PL) PER BOLT. (NOTE: NUTS TO BE FIELD TIGHTENED TO 95 GWPRAD—\ .
KEEPER PLATE (SEE DETAL) FT. LB. TORQUE, ONLY DO NOT OVERTIGHTEN. AFTER STATE INSPECTION { 157 BOLT CIRCLE
(PLACE ON TOP OF MIDDLE BURR THREADS @ JUNCTION W/ NUT TO PREVENT ROTATION.) '
HARDENED WASHERS) _\ \ (AL WASHERS INCLUDED W/ BOTH SUP & FIXED BASES) s T = 5/8° RAD (TYP)
6" x/ar
3 7/8° PROJ (SUP BASE) g" SEE WELD DETAIL 38 ]
r 5 1/4" PROJ (FIXED BASE) 2 3/4

TOP OF FOUNDATION N

f

TOP OF BOLT
THREADED MIN OF 12°

BOTIOM OF BOLT

THREADED MIN OF sﬁ
STRAP TEMPLATES

(2) SETS REQUIRED PER POLE (UNFINISHED)

ANCHOR BOLT
ASSEMBLY

= &1 1/4" THK ASTM—AS72 GR 50

SUP/ANCHOR BASE ASSEMBLY
(SEE DETAL)
SUP PL

ANCHOR PL

(3) ANCHOR BOLTS (SIZE PER CHART) EACH W/ (6) HEAVY
HEX NUTS & (2) HARDENED FLAT WASHERS. ANCHOR RODS
GALY FULL LENGTH (TO BE CERTIFIED TO ASTM-F1554 GR

105 MECH. & CHEMICAL PRIOR TO GALVANIZING.)

(REF. 312393 OR 312394/B100-B335)

17 (TYP)

6" DIA CTR HOLE

$266A. SHT.
(ASTM—A653)
(G30 COATING)

(eABOLT + 1/8)
¢ HOLES (TYP)

(3) 2°x1/4x15" BARS

6/9/2014

LOCATE 6" FROM TOP OF FOUNDATION &

3" FROM BOTTOM OF BOLTS

TACK WELD AT (3) OVERLAPPING LOCATIONS

Expires 11/17/2014

15" DIA. BOLT

\/' CIRCLE (TYP.)

-—I 13/8 |-

6°DIA. CTR. HOLE IN
SUP PLATE

7" DIA HOLE IN ANCHOR PL

[ | ANCHOR BOLT DWA + 1/16"
HOLE (FIXED BASE) 1 1/16"

HOLE (SUP BASE). CHAMFER
EDGES

% ¢ T
— ™ 13/8" THK 1‘
7/|s'i N\ - r/— (A572 GRS0)
1/8 N N

(AS72 GRS0)
3/8
SLIP/ANCHOR BASE
ASSEMBLY
€ OF ARM
I POLE BASE PL
= ‘/- » L]
6" DIA CENTER HOLE & 1
WIDE DRAIN SLOT IN POLE
s BASE PLATE
I

Iy

A A 15" DIA BOLT CIRCLE

1/2° T™HK (A36)—/

(REF. STANDARD PLAN J-28.40
FOR WASHER PLACEMENT)

APPROVED

Manufacturer's Pole Plan
Approved For Listing As A
Pre-Approved Drawing

WSDOT Bridge & Structurgs Office

By__G& Date 6-/2-20/4

f
L
U/
x2'y\\ _/

1/4"
BACK-UP RING

0.12" (11 GA)

/

POLE BASE WELD DETAIL
PROJECT INFORMATION
PROJECT:
COUNTY:
Chny:
REQ:
STATE: WA | meag / sop : ~ rev | DESCRIPTION | oA fev mjox
PROJECT NAME: WASHINGTON DOT REVISIONS

STEEL LIGHTING POLE W{O SINGLE &

R_WASHINGTON DOT

Jm

Union Metal

[This d and the horein are prop
Union Metal Corporation. This d is not to be, copied,

or used for any reason except for the purposcs which it was issued without
the express written consent of Union Metal Corporation. Furthermore

Union Metal Corporation reserves the right to recall this documment and all

{copies at any time for any reason.

Corporation

¥ end the property of  [DESIGNED BY

TWIN DAVIT ARMS (TYPE 1 ARM)

CHECYED BY  |DATL
LRR s49 18/18/09

3 E

| F |

/1035-B50
G |



